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QUESTION 1

In the expression Y = f(Xn) Y, the output, is the variable and Xn, the inputs, are the
variables.

A. Independent, dependent
B. Individual, multiple

C. Sole, multiple

D. Dependent, independent

Correct Answer: D

QUESTION 2

The length of wooden beams being sawed is measured by a line operator. Which is least likely to be influenced by the
instrument?

A. Calibration of the instrument

B. Actual temperature of the liquid
C. Recording the measurement
D. Reading of the instrument

Correct Answer: C

QUESTION 3

Voice of the is a Lean Six Sigma technique to determine the Critical-to-Quality attributes of a
product or service.

A. Constituents

B. Comrades

C. Consumer

D. Customer
Correct Answer: D

Reference: https://blog.masterofproject.com/ctg-tree/
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QUESTION 4

The 5S approach utilized by a Belt to separate necessary from unnecessary items and frequently used items from
infrequently used items is known as

A. Sorting

B. Standardizing
C. Shining

D. Sustaining
Correct Answer: A

Reference: https://www.iise.org/Details.aspx?id=8414

QUESTION 5

When we assess the Voice of the Customer we are attempting to determine the gaps in our processes between “what
is” and

A. “What isn\\'t”

B. “What will make money”
C. “What will cost less”

D. “What should be”

Correct Answer: D
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